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QUESTION 1

You use the Monitor Event operator to:

A. Configure a process to wait for an SNMP trap event.

B. Publish an event to an orchestrator before continuing down a path of execution.

C. Configure a process to wait for one or more events published to an orchestrator before continuing down a path of
execution.

D. Configure a process to wait for one or more events published to an external application before continuing down a
path of execution.

Correct Answer: C

QUESTION 2

Which statements about JavaScript expressions in CA Process Automation are TRUE? (Choose two)

A. The CA Process Automation Boolean dataset type maps to the JavaScript Boolean data type.

B. JavaScript expressions in double quotation marks will result in an invalid expression error message.

C. Dataset objects and their variables are accessed using JavaScript expressions in calculated parameters.

D. JavaScript variables set in the pre-execution or the post-execution section of an operator can be accessed from the
pre-execution or post-execution section of another operator.

Correct Answer: AC

QUESTION 3

You are upgrading from CA Process Automation 3.1 SP1 to the latest release. If you use SQL Server in your
implementation, you will need to configure SQL Server to support:

A. Hex transactions.

B. Binary transactions.

C. Binary Large Object (BLOB) transactions.

D. Extended Distributed Transactions (XA) transactions.

Correct Answer: D

QUESTION 4

When a process runs and encounters an operator with no defined exit port, the process will:
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A. Abort

B. Enter a queued state

C. Enter a blocked state

D. Skip to the next operator and continue

Correct Answer: C

QUESTION 5

You recently assigned Indira Chopra to the Environment Configuration Administrator role. With the associated rights,
Indira will be able to override various inherited settings. However, Indira will be unable to overwrite settings at the:

A. Agent level.

B. Domain level.

C. Orchestrator level.
D. Environment level.

Correct Answer: B
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